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from math import sin, cos, pi, atan

def polet(alf):
t =0
global dt, 1, ki1, k2
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¥ =

y = wy*dt

while x <= 1:
t += dt

v, vy = wx - (k1+k2F(vc®¥2+yy®¥2)%%@ 5 ) Fyx/m*dt, \
vy - ((K1+k2% (vx®*2+yy**2) %% 5 ) ¥ yy+ m¥*g)/m*dt
¥ += wx*dt

O3HakombTeCcb C §

return y, t

3.2.7. ro_shar, ro _sreda, mju, g, r = 7808, 1.29, 8.8182, 9.8, 8.08
’ kl = &6*pi*mju*r
k2 = @.2%pi*r**2¥pg sreda
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dalf = 2 # war wsmeHeHuAa yrna
nporpaMMy- 1 = int(input('x-uenu: "))
- h = int(input('y-uenu: '))
rc = int(input('Paguyc uenu: "})
v® = float(input('HauaneHas ckopocTe cHapaga: '))
it (veFx2/(g*1))¥*2 - 2¥y@**2%h/(g*1**2) - 1 < @: print('B usene He nonacTe')
else:
dalf *— pi/180
alf = atan(h/1)
y, t = polet(alf)
while True:
yl =y
alf += dalf
y, t = polet(alf)
it y »>= h or y < yl:

if y<yl: print('B uene He nonacTb')
else:
alf2 = alf
alfl = alf - dalf
# METO4 NONOBMHHOTO ASNESHWMA
while abs(y-h)} > r + rc:
alf = (alfl+alf2)/2
y, t = polet(alf)
it (y-h) < @: alfl = alf
else: alf2 = alf
print('¥Yron =", (alfl+alf2)/2*180/pi)
print('Bpema =', t)
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Co3pauTte NMPUAOXEHUE  AAS MOAEAUPOBAHUA
cTpenbbbl No LEeAn B aTmocodepe.



